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The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘A’, then he/she should fill up ‘A’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘A’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
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The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
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BERIRE

51 09:55 JHIT HITS LHPITOI e |

OMR €3 “Iq9 IYR JEWU® Wa Te05! e 917 S9TS &miht AR I 76T |

o S5 BfeT 4| TS (@I AT 29 T fToqo 2@ T{! /] T @Y IR
oS i 7R |

o It T SRR SPIR SoR ST I @#1TS Ty T4 A9 fREpTR Teewt 707,
(S8 (SEF TS Jfol [REI0A1 F1 27 |

® Non-Standard OMR I@T® 2(F “_FFIAE Fo@ @ 791 euFiFed Mg sz =B
Tt =far |

o SrHIEPTRCE WA Ml SHFES /(@ET *ae YAR FHa PR A0, 2I=E_IT (SSTECS 210w
FHS P A2 FAIF TS IF TSI OMR TG IF eEFIFOUC] a5 ol
R TS | RICT 2[RI oS /e “Iqe sl 3 Je 1903, (S02 & (SSTEF
s 31 4f9 @RI Ea |

o R FHNT AN (9 LAWEAT B4l (rough) FW eEFIFos il HizeE F @ |
AN 461 (rough) FI TG A1 Al B (FICT 476 FlaTers I G | Teq 7[aqo I
@2 Y541 (rough) PN *HIFE T, (SRS T (ST T&T #[@q Jeie 341 7927 |

o T 2T AT AHIAF €= Vg OMR T&T “[@rz il 27 | G 2 I WFm IRIA
SreRE @I $eq oiq il 72’7 |

® ENIFOT TS ¥ OMR Teq ~Ig il 27 | *[=If@ ¢z g OMR Ted “qe
ERJFOT T, LFTOT T, B AR @ ATl /F 2N -5 (I 7 Pl
R |

® ST Y 2 T HF eWFFoe 100 b & AR AT TS0 &R @ 1.50 THIP
2 |

o & TG AT (PITA! WM 729 T |

® SIF(AIRIR ©2 T[T @ AFINET OMR Te 2[qS &l /F 3l @1-936 (02 T2
A AN |

o “RrFIi (OSTEIRT R To M @ erTire erpHR RO 279, @ PN,
ST, 0T, o T BRAG! | @2 (S ARG A TRFIS @I 470 s 1z 3K
(oIS SRR 27 Te BRAMG TRFREDBIR2. 2T Wi e 9o A |

Important Instruction :

o T faPoe 2l Ttw TTe eFITS $'T TGB! OMR Tes g S 5iz® forat 27 |
TrIRgImARC, ATINE 429 T ARNFIFOI TG ‘A’ QifFET OMR Tee A s 5iS ‘A’
o1 =R =i S I8 ‘A’ (6F 331 I AR | emsiros (]t [pmtie @i s
TR TGP G IF ARHToL Feie A 37 |

o I T GJil FIT WICS 2N FHFT oS OMR TEGF [ FNCS LRFIFOIE
ol v AR | SepRt sfRiEem SpritEs 3 Rt 27 |
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et

Pl 09:55 B TS a’ &= 1l |

OMR &3 “taq 3L Jebre W Texlh e TR +[tf erifh R 1o 7o |

o P HoTCe APl SR @I AT <A oA Food @ [l K T (=S ARE
ST SRS (TS =T A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
@ I S0 A0 Ko 91 23 |

® T ST OMR @7 “[(ad &) IS e (@ w91 els#itad Wiie 2 =8 3
IERISESE

o FrHFiaE R e ToRERs /@I #Ita YA FHFA 0o 2, 2RI O 2100
FCF P 2429 FAF T R ORI OMR T@d2[@ @3k 2#afb s ol (redid
AR | (I AR ST /e #itq A TSR FE 1 T, SR Ot oIS 0
/e[y T 204 |

o ST T GHE ARG T (rough) TS 2PE#TE (S| BT FACS AR | 21 qri
2T (rough) IS TG 1 T (FIF LR FI9E FICS AR 1 | AW 27wt @3 27!
(rough) FT& TEIITq FCA, OCF G2 TELICGH TeNRE Pl 24 1 |

® 7T IR & ANFIANET I g OMR Tea7@ (e X | G T A Wa TN &
SRR (e Teaig (e I A |

® 2R[(TF A €6 OMR Te°l@ (eq 2@ | Aa=FINcs (12 (8 OMR TeReiq emitas
T, ePEITR (T TSI AR WY 11 /FICE IT-A@S o =T 5] FH00 2 |

® <[SFPIF TR 2 I6! €I 2H#itg 100 b 2p A 3R TSP &TT &) 1.50 797 0T A
R |

® o TG T (I YO FI AP |

® 5% O (FTF G “rHIE OMR TG0T 1161 /I I - @B (7] 2T FACS 2(A |

o IR ST R T ATS 2@ @ WA 2Bt IS 2@ | @ - SR,
AR, AT, TR @R TG | @3 CHG TGN ORI (I LR SERS T ([@I0
P BCE BRG] HANDE LIPS W 03 91T FHCH |

Important Instruction :

o *ArHTy Rce 2ex BT ATS eRetad IS THAG OMR Sed7itad e 2w @4t = |
TrizgerEw, AR e 2oiEd (IS ‘A’ AFE OMR Teg20a7 iR 2w ‘A’ fordre 2@
G B 78 ‘A’ T 10N TA0S 23 | IGg (I SPTHRS (YT ARTId) SRR Raglh e
R R 2Rafh 379 TS 910 |

o ! T Is TR “tf A (NAFCPT TS OMR T@geitas Aozt @ryeiafG e fires
T | & = e SR S I Rt 2@ |
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ferer=

%1 09:55 famfx Rt sresef Wi frersEt s@aTe |

T ANTYHATE TS Tt gt T Trete St @ EE A |

® 3IFITE T UHR U Taal [SHRERE 3G ST G T TET SIS @ TR
BT ST ST |

o Ife Aian fommremmn mia war @R wan MmN T e AuerEt fawrEn, fegmet 3R gee
TR ST |

® Jf¢ Non-Standard OMR Sheet STERA™ ST, fSAM@@ETET MaaT-maf I T8=1 (Roll
No.) S ferems &1 Srrmme T fort 9 |

o formEETERT ARfCHTET BH™ TATAT™ /IR faarsame e gars e 9, fifaame Seer
T 3riTe @umRTe TifE dFE JHE A AR @ae g e 3T OMR e faersat
TREATET ST S TuTa | SReT AR JenferT /B feersare A wsf amew 3 gars
WA 3T&AT TSI ST BT AT €T e/ SHTd ST |

o fsarrEmn el MaE Y@M THT ST rough FERET GiFM™ faaTgamas ! @l g |
feA=@™T rough TEE TR foeTsaE T oA TEWH @RS SEREEl FE A8 |
feeTsama 3¢ 9 rough FERE @A 376 R feTTE@! UM WA SR ST |

o TTHE FHEMA U™ ferEE THe” OMR A= faeme A wrme | mRf Seen 19
o St st forar ferette @ s 9= |

o T faags armE TH OMR T faag gmm@ sme | femmeamn &8 &1 OMR
ATATE AT - : TR foerst Tmr om0 d@im foemst &', waft w's smfe safeet
e el TS T S-St ot T |

® HIEH THT 2 U= IR A fSelgard W9 100 HifY U= 3T WFhHE! JiFEE-l e
TRt e 1.50 T YW |

o I fFrafy aram™ Set g’ war 19 |

o foHERT OMR T faretmgema @t fier TR W Seu-siEl e Qi@ 317 Qe
AT |

o 31are & it glwenfy e marme arfgamn @it @ faemst et gimer me
Taie SIFTH, SR e, s7ar, 9, &< A1 3UiS | o ST Jres sl T BiEeEE s -
St TET GRS TSI ST SUSTE BIATaHRGE T A1s BT 851 1 A0 |

Important Instruction :

o foAmrramrn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
T g AR | fafefer anfed femmrmmn g dinr et e <A’ @t e et &
SR G e e ‘A o e o for sieeE e At e |

® 3THSE WATE! ARTAE farm fsAreamn Amfemfy smamma OMR A faemgst ema
i feeTgEian ST gl ARTH | TSTee1 STHWIE gt Tamned fFems THemmE S |
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frdm

uTd: 09:55 &t | Yd Y9 Y 7 @i |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o Thianefi @i frfterss g feu o ufefa /A 3fic W & IR SR T TR, Ugeh 9 3 o &
¢ 3R g IR T gf&qeht 3T OMR IT-94 f{iees i Hiad o &g | 3R foreft aliemelf 4
Iufefa /U 3ffe W e gedter T foham, a 3| wdeneff s rufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T W weh | wdeefi W
(rough) T IT-9 A7 31 Ferell T8 & HITe W & L Feh | I qhiemel ST-u9 W s W
(rough) T AT 2, A T IT-T T JoTeh a1 a1 ST |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH € & S | Tt §H W1 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® T If&ieht < T1Y T OMR IW-97 fean smom | wieneff 39 ffde OMR IW-93 # ¥
GfEent 1., T GFETehT T I 3T HTHT 1 IS AT Torawor FraeTi & shaet el 31 et sicl-
Ui5e U | W |

® Ui ST FHA 2 FU BTN 3 ¥ GfETehl § 100 T & 3TR Jeish I o foIw 1,50 376 i |

® T 3T o foTU whig TehRIceh 3k =i gnm |

o TR 1 38 T8 T 3R OMR IT-T3 W hael Tl AT AT STA-Tig< 9 § |t FIAC
WA B |

o wlieneff 379t glaen o fo7u e T T 7o gfecent w1 Teieh Sve S5 - wTfveh 8T, S — ST,
s, srel, fawdt 37t 3t | 30 ey o wren o weentor 8 foneft wehr 61 fe o wmem 9 srgfaen
B W 37T 7T i & HE W S |

Important Instruction :

o ulignedi wig gHivaa o & foh 39k g1 W9 YRaent &1 g OMR SW-U3 § &@ &1 ¥
T /ST R e @ | SeTEwREEy, afe ulenelf fit uv gieaet @ @i ‘A’ @, @ OMR
IT-US | e ‘A’ foremn grm 3R o=t A’ Rt el h1 g | afe W gftaent | g e o
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |
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A SIS ! R SIES ?

(A) el (B) TreGHl
(©) g (D) ==&l
i 7efb SeToe ToIPICs Nl AR = 2

(&) =T (B) W&
(C) Tagf (D) =
AT AT SR L ftherraTe s e 12T ?

(A) TSI (B) i
(C) WIE e (D) T
3Teifieh &t | 1 |1 47 Hivg T8 ® 7

(A) T B) =

(C) it (D) e
Which colour is not present in the Olympic Flag ?

(A) Red (B) Green
(C) Purple (D) Yellow
TR Jreiel 52d (2R -

(A) TATI (B) TGN
(C) oM (D) ferm
[GEE RIS SR

(A) Fors (B) GG
(C) oM (D) fer

U% gl TYEH e

(A) ST (B) d©feamm
(C) wam (D) <fmm

U T T TR

(A)  sIeT (B) &femmm
(C) 7o (D) i
The Capital City of Peru is

(A) Bogota (B) Santiago
(C) Havana (D) Lima
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TTIE ' F GHGEH 5 SES

A) THR (B) Fferrel
(©) R (D) =g el
I Y5 GIHE AL :

(A) {?13 (B) Tl
(C) ZIGRM (D) fore frg
YT T2ieh UeEiS] AT TR S 7

A) g (B) hiewhra
(C) &g (D) TigH feeet
ENECRTICAE N AfRae |

A) g3 (B) eIl
(C) gausTg (D) 3 feeett
The National Stock Exchange is located in

(A) Mumbai (B) Kolkata
(C) Hyderabad (D) New Delhi

9B FEATHE 71 S0 FECHRG Fi2e YR FASRS Flekee G FHSE
ToAmICG! fferie Sifeia «[1 oo 41 |

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive

forc Srafie Sifeiel (A @I IESWI TAMEG 4% FEITHR (AF T FETHIE
(2% ZABRS FACS IR 41 IR of ofeee S |

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive

TERITE B 6l WG T AT (hardware) T8 SRR T T HRILIHH TATgas
QLA (file transfer) gRU ?

(A) BIOS (@)

(B) Hard Disk (gTfee)

(C) CPU (drfy)

(D) USB Flash Drive (3.78.5f. %9 g59)

FfcTRad = € 39 FTeeRR I 1 U8EH i, T T HFfel 8 GER et H HIsal i
TN HA o T3 ST foham ST HehaT B |

(A) s=E (BIOS)

(B) =®E fe& (Hard Disk)

(C) .4y, (CPU)

(D) ¥.vd.#f. %9 gsd (USB Flash Drive)
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From the following list identify the hardware component that can be used to
transfer files from one computer to another.

(A) BIOS (B) Hard Disk
(C) CPU (D) USB Flash Drive

Ted SRe] Prg-oler Moo nfEFd Tl Fe wiEFerey JeTgh| o[l us w1
RGN (2R :

Q) IR s (B) Ae~{l S Ky “Ifoufe

(C) SR e (D) A sfige sRFe=en

Teq ©Ired PIER-9MeR TSN 769 ©INre S[fEe WHeeite eTef (F @i
LS| ST FCACR ?

(A) IRCIEN sl (B) Al @R Ry sl

(C) SRR Rowren (D) AR il *o=e

TS BTGNS AT-HRAT g -7 SRATHR Giel YRaf gaeh SRME! ST WIemH! ?
(A) HTHIHA (B) @ager AN feiear=e

(C) Taet (D) TR U

g Tavft S ST YR & WRA-TITT o BT <hl gRault I o o o UK ¥ 3Tl hidl & :
(A) HRHHE & (B) dayeT 3R foer &

(C) el T (D) IR Y IS

The range which separates Indo-Gangetic Plains of Northern India from the
Deccan Plateau of Southern India is

(A) Karakoram Range (B) Satpura and Vindhya Range
(C) Aravalli Range (D) Pir Panjal Range
foferfie TPT=a @I T19 Sevife fEaerE «[ == ?

@) b (B) siall

€) T (D) =Tt

foIe Seatere wiefora Weay (b Sevife fRuiem (e =l ?

@A) P (B) o

(C) T (D) =i

TMErf 99 ¢aRN fErTera g™ dmfRme ?

&) fag (B) T

(C) g (D) e
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Fraferfaa wfeat & @ =W femem @ 78 fpadi 2 2
a) fay (B) Tm
(C) =g (D) THer

Amongst the following rivers, which one does not originate from the
Himalayas ?

(A) Indus (B) Ganga
(C) Yamuna (D) Narmada
T TSRO {11 T AT = :

(A) 100°C B) —40°C
(C) o0°C D) 4°C
(e A g 2

(A) 100°C B) —40°C
€ o0°C (D) 4°C
it geméo ST e T e 2

(A) 100°C B) —40°C
(C) o0°C (D) 4°C
Tt 1 Efed SR BT R

(A) 100°C B) —40°C
(C) o0°C (D) 4°C
Water has maximum density at

(A) 100°C B) —40°C
(C) o0°C D) 4°C

NI KGR (I *14S T~oifeq Tesiiv, Teqe S SoTesl Ao/ F 1T S 391 27 2

A) ey (B) =S

(C) reaife freel= (D) ey

T TSGR AT1H SR, eqel €3 IR 0 S SGF 2

A) ey (B) =S

(©) dERew (D) HETSg

o FUTAS RT3 e -gierdt fegem, THTaRER 3T ST B ?
(A) e (B) TEr

(C) Tt fafirm (D) wu fafiem
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8. o % IcuTeH, Torduur 37 WUd 1 315 S STell | o= i a1 e ?

NI L e (B) 31T
(C) TerHifa fosm (D) FHTSISITE
8.  Which social science studies the production, distribution and consumption of
wealth ?
(A) Commerce (B) Economics
(C) Political Science (D) Sociology
9. faferiRre Sifere o1 Frelfes O coufE “midfl foare 1 :
A) BN (B) @G
(C) IBREN (D) TFCREN
9. I SEiis Sifeie (TS TR SiE (owi Somi fbfes 74 :
(A)  ZBifR (B) @icferm
(C) AN (D) FreHRN
9. TEMTE EHTIBRHR TUE-ET ¢ STUhicd om sHeE! /A |
(&) wErfEm (B) it
(C) 3IrTsIftrem (D) SsfiEm
9. TrafciRaa F=h o wrehfoe €9 & U S aTe AT uered 1 gge i |
(A) wItEm (B) Hf=m
(C) 3niferm (D) Hehrem
9. Identify the normally radioactive material in the following list.
(A) Plutonium (B) Germanium
(C) Osmium (D) Cadmium
10. SferRe (it &bl “we fpsen (ed A ?
(A) #i® (B) r®
©) = D) =B
10. SRR I 2T T F© &l CITETRITS 2AMF ?
A) (B) e
€ = (D) =B
10. WISee STCREHTITE HIFE gHSTETE HIed e o 2
A) =5 B) @7
(C) @6 (D) @8
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10. aiciiare ®, yfd & fepaa faeSt w8 8 7
(A) U= (B) @@
C) ®: (D) 33
10. In Volleyball, how many players per team are on the court ?
(A) Five (B) Seven
(©) Six (D) Eight
11. SRS BB EYT 12 ST S = 07 2
A (B) e
©€) = D) 72
11. SRS A6 A PR A0 SR SRAWR 2
) b B) e’
(C) =5l D) ™I
11. WA TS TESTIAT STEES {91 T 2
(A) HWH9 B) W=7
(C) W8 (D) =H 10
11. A % foha T 379 & Ay HWT AN H & 7
A) it (B) dm
(C) 38 (D) <=
11. How many states of India shares border with Assam ?
(A) Nine (B) Seven
(C) Eight (D) Ten
12,  1st SRR, 2022 ACCH SPTHE Rewa) @i 2
() TE@I (e (B) D@ AGEIS!
(C) Tew fos =i (D) PRE &<
12. 2022 G 1st TRRIKICS SPIHE Rewat @& feeem 2
(A) wEs! el (B) SmCAES “NGRIS!
(©) fes feey <y (D) AR &l
12.  1st eI, 2022 B @1, @M T-T&T (finance) AR AR 2
(&) 3w fam (B) =5 Hied
(C) Temwd fog =i (D) i BT
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12. Ugel SHadt, 2022 1 3EM F o T we & 2
(A)  SFSfT AT (B) =igHTE w2l
(C) Tewa forea wmi (D) i &Mkt
12. Who is the Finance Minister of Assam as on 01st of January, 2022 ?
(A) Ajanta Neog (B) Chandra Mohan Patowary
(C) Himanta Biswa Sarma (D) Pijush Hazarika
13. 31st 6, 2022 AT SPTRR o (24 71! =T ?
(A) e (B) iz
(C) Tofgm (D) =
13. 2022 F 31t ACE ST FOLEN (@l f2eT ?
@A) i (B) “Hfe
(C) Tofe (D) e
13. 31stHr, 2022 & AN AEME THe" et € 2
(A) HH 34 (B) WM 35
(C) ¥+ 33 (D) W= 32
13. 319/, 2022 % AEA T fohed Tt & 7
(A) i (B) et
(C) ddt@ (D) <™
13. As on 31st of March, 2022, how many districts are there in Assam ?
(A) Thirty Four (B) Thirty Five
(C) Thirty Three (D) Thirty Two
14. Tl omi R (PR (e SpTe S| =opd <5 2
A) B (B) Tl
(C) TR (D) O
14. 0y Stale origler MR @G ST A0 SR SRR 2
A) = (B) TR
(C) RIeTIE (D) oI
14, TTEHETE BT BT R ToTE 59 el STETas fmT Terr 2
A) = (B) ret
(C) =R (D) ¥
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14. F=fafad 9 9 9 91 <9 378H & 91 H9T 9 Har g

(A) == (B) U
(C) =R D) A
14. Which of the following countries share border with Assam ?
(A) China (B) Nepal
(C) Myanmar (D) Bhutan
15. faferie wereomyes (ives SibRets 7o Sz ?
(A) TR T (B) *<I2H(G 7o
(C) TIv B&RT! (T (D) FFRI TSR OTg
15. I Sl ereeiem I &M eTglb 514w B i ?
(A)  STEIR T (B) *RI2W0 OTg
(C) TIv B&RT! (T (D) IFFRITSN OTg
15. TTEETE SHE SIAThR ToRTE 6 THIAT S SASATEATE ¢ 2
(A) - (B) wgETe &g
(C) U BSIitehT Hg (D) hifermIET g
15. fefried geti # 9, 6 a1 qe8 qeff H W g ?
(A) TR &g (B) wUsHIE 4ot
(C) ¥ &SITiehT &g (D) et &g
15. Amongst the following bridges, which one is at the Easternmost place ?
(A) Naranarayan Setu (B) Saraighat Bridge
(C) Bhupen Hazarika Setu (D) Koliabhomora Setu
16. TS TAPRRE (@ F71 916 TGS SEs ?
A) o= (B) IRl
(€) = (D) =%
16. forca SRS IR W0y (G I Tl SRES ?
A) ™ (B) IRREI
(C) o (D) 79
16. TSR S CHRIT S BRI G ?
A) et (B) FfwEm
(C) snfre D) wg
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16. Fffgada s HiTd awm ardi i g ?

(A) fesmim (B) pfwm

(C) drfdt (D) W
16. Which of the following river is in the Barak Valley ?

(A) Dikrong (B) Kushiyara

(C) Boginadi (D) Bharalu
17. SPINS qifens 39 15 2

A) @R (B) %9

(€)= D) ©iZS
17. PG AIET alie i 2

(A) TR (B) ™1«

(C) ™MeT D) =
17. 3TEM STETETATR gHIsT a1 ?

A) & (B) A

(C) w9 (D) IR
17. TH9 6 USHE JHRTE 7

(A) g (B) &

(C) = D) dYua
17. What is the State Tree of Assam ?

(A) Hollong (B) Teak

(C) Saal (D) Peepal
18. SPTIF (T OIS ¢! S A& A4E W S ?

A) FreR B) ToE&

(©) TR (D) el
18. TR Tl 43R AR T TR SAPTR (i BT SES 2

(A) FRETAER (B) TOEF

(C) gHFHIe (D) =ce
18. OieT TRkl T gfia Wiere Afe 3mam s € SRR g 2

(A) fowETR (B) T

(C) g =t (D) &
18. T3 HerehT 3R gefier wrere Hfex 318 o fhg M w g ¢

A) RremmR (B) g

(©) gaeft =t (D) &
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18. Poa Mecca and Hoygriv Madhab Temple is at which place of Assam ?
(A) Sibsagar (B) Tezpur
(C) Dumunichowki (D) Hajo
19. W20 S[ES b2 Sl (w1 :
A) w11 (B) WRTIZ
(C) ity (D) foxa2
19. TR SHFES Bl ST (L Y 2 :
(A) AR (B) W2
(©) ©m2 (D) foemiz
19. SREME AR A1'E oo™ SHeHE g3 ¢
(A) TE (B) Trhems
(©) s (D) ferwrg
19. SNETe feo I 99 T8I 1 91 a1y |
(A) (B) 2rpas
(C) M (D) fomg
19. Name the tea research institute at Jorhat.
(A) Tarai (B) Tocklai
(C) Tamo1 (D) Tingrai
20. 22 SPTIRI PR =R :
A) sz (B) IR AL
(C) el (D) ZTS!
20. @ SN PTG N 297 :
) iz (B) IR AT
(©) wEwel (D) Z=HETS!
20. Tirfafem srafien qamm aeyEt gan o ¢
(A) wrsfd (B) IR GER
(C) Srmfd (D) gzHTefd
20. 3TEIHAT o Tge 2Teh! T ATH SATSY |
(A) wredl (B) IR GEN
(C) et (D) sgHTerdl
20. Name the first talkie in Assamese.
(A) Bhaiti (B) Baruar Sansaar
(C) dJoymoti (D) Indramalati

SLRC-2022/P-III/A 15

P.T.O.



21.

21.

21.

21.

21.

=re “Aifb efos! a1 e 76 :

(A) SIS SCFIA S BHIG TETSIR I

(B) Sl SRR ST S T b

(C) 9 PR AT ISBF

(D) fese (2T S foedge 7

G 7ol @SB PR -

(A) SIS AT GR TMIT ISR 2FI6e

(B) =l ST wifel @32 T[S b 3]

(C) 9T PR @R S

(D) hose (TeFF @R oedee n

WS gTE! HR TR 7

(A)  HiTRTE TSR I TER TedHHTs Ued

(B) 3T%UIT SATEH 3Tl ST FHTY o5 S

(C) wiTdf¥g ST TR

(D) WIS J8% I FoeisH T

TS Tt <6t T foheeh g <t TS off 7

(A) e et 3R THER Teavas ed  (B) 310N T8 3Tefl 3R guTS=g |
(C) wiTafg 3R TSHe (D) Wil J8& 3R foeis g
Swaraj Party was founded by :

(A) Bhimrao Ambedkar and Sardar Vallabhbhai Patel
(B) Aruna Asaf Ali and Subhash Chandra Bose

(C) Bhagat Singh and Rajguru

(D) Motilal Nehru and Chittaranjan Das

22,

TIIOR TR @G e o, wifs, 3¢, fom oI T fofes (@@T ¢/To
ToTC STl 67 2

(A) =T 25 (B) =T 13

(C) =7 15 (D) == 19
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22, SRR RRHUGR @ 4TS @, wifs, 3¢, fors « s fefers @y Face
FATRR ?
(A) 257 4=l (B) 134t
(C) 15 7R 4l (D) 19 7R 4=
22. YA HfeeM o« @MfR@ET oW, %ok, R, NUH AW W JRAH g
AIEATIE! 31 B 2
A) w25 (B) @ty 13
(C) w15 (D) @1 19
22, YA TiIUH 1 I 91 31wde 9, Gerast, Sfd, Tl 3T S €M o YR W 9ewTd i
Uehell 2 ?
(A) =T 25 (B) =< 13
(C) ¥F= 15 (D) 31g=ae 19
22. Which article of Indian Constitution prohibits discrimination on the grounds
of religion, race, caste, sex and place of birth ?
(A) Article 25 (B) Article 13
(C) Article 15 (D) Article 19
23. T2V Sl W2d AT (olie oM (1) S
@A) fa@rgE B) &
(C) ZRMRRAM (D) oIl
23. 2R I ¥[C2H TREY (9lfeT W (915S) LS :
@A) fetom (B) fran
(C) 2™ (D) Tolele
23. HigHIe JTfeet I Sfier Arer TS @It et TreiSlT (et TTHIe) HET |
(A) ST (B) feeeft
(C) et (D) W
23. M EE (), G STTICA T8 1 Hehall 6T 3 -
(A) ST (B) feeeft
(C) eueg (D) T
23. The Gol Gumbad (Gumbaz), the mausoleum of Muhammad Adil Shah, is

located in :
(A) Bijapur (B) Delhi
(C) Hyderabad (D) Bhopal
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24, SRR PN KA Bo1bet TEeller Srlare @[l ‘UDAN’ © ‘A’ 3¢(fbq 3=sj<f s@ieh1 <5 2
(A) N (Aam) (B) @39 (Air)
(C) <™ (Aakash) (D) @i« (Aviation)
24. O PN KA berbel FEeIREE Sl Gaze ‘UDAN *=iiore ‘A’ 346
QIR ?
(A) Aam (B) Air
(C) Aakash (D) Awviation
24, RaH ffve uhyees ffAferf geme ‘UDAN g9 e, ‘A’ 31 91 et ?
A) ™ (B) T
(C) I (D) ufirEs
24, YA % AN IgSIH BT 1 Uged, ‘UDAN H ‘A’ ST AL 8 ?
(A) Aam (B) Air
(C) Aakash (D) Aviation
24. What does ‘A’ stand for in ‘UDAN’, the initiative of the Ministry of Civil
Awviation of India ?
(A) Aam (B) Air
(C) Aakash (D) Awviation
25. % 10 #19 (ST IR FHRAR TS TANS (A1 22N SIS il (Bl <5 2
(A) GG B) BHuz
(C) Tae’ (D) @™
25. % 10 o7 (I BIR I FoRICTH S0 (Flel SIS efopi &2y Tofeie =7 ?
(A) GG B) Bhigx
(C) T (D) Rt
25. % 10 9RG shie SR S8 THT 9« shiva 1 firfafem st s 2
(A) THA (Airtel) (B) Ty (TCS)
(C) o (Wipro) (D) fmEE (Reliance)
25. I W HUH T 10 ARG HUS SR oo ol T8 T aTelt Tgefl WRd Ul 59 778 ?
(A) TeA B) d#@wm
(C) fom (D) freomE
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25. Which company became the first Indian company to hit the ¥ 10 Lakh Crore
market valuations ?
(A) Airtel (B) TCS
(C) Wipro (D) Reliance
26. TSR S ARG Bl e I FTHfeIe ! 30 s ?
(A) THA — SIfEg (B) AG — =P
(C) IfRTeGY — ! (D) sfefz — Sfy
26. {10 S@fre ToreH! (dance form) @ SF THHS AT AL T (i (SSIH ST 2
(A) T — SIfEg (B) AG — =P
(C) FIRARITY — Taren (D) SR — T
26. TERTE BFM € ST HEEE 6 3R faf 3w wessi TRsemn 2
(A) &0 — A ATg (B) @i — 3mE™
(C) wifefiargs — et (D) 3ifeeh — sifsm
26. THIRId § | o A1 ST, T T 3R 3o A TAT < H6H § 7Tod & 7
(A) & — afieTg (B) @ — 3rEm
(C) wifeftargn — shtet (D) 3ifesdt — affewm
26. Which of the following pairs is INCORRECT with reference to the dance
forms and their native states ?
(A) Yakshagana — Tamil Nadu (B) Sattriya — Assam
(C) Mohiniattam — Kerala (D) Odissi— Odisha
27. SPINF GFQ NG 7RG (Ramsar site) SR (20 :
A) TR et (B) FFveItel
(C) g et (D) fez-TramEl
27. SPIIET GG APTE 125 (Ramsar site) SeTg 29 ;
INRRG R BN (B) IoHeAl
(C) Dlgf et (D) fez-TramEl
27. TERTE SR Se37 MM 798 Ramsar site fa@ |
(A) A foredt (B) seeH
(C) =ifesh ferett (D) feg-&wmen
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27. 3TEH H THATH THEK 9152 SARH & -

(A) feur sier (B) SETerr
(C) =rgst sfiet (D) fes-S@man
27. The only Ramsar site wetland in Assam is the :
(A) Deepor beel (B) Bordoloni
(C) Chandubi beel (D) Dibru-Saikhowa

28. TS T7eIem ST2q @G “RG Ivte, @G ApIe” Sibfea PIts TRIE 727 ?
(A) = S “If<R1eT Forlel FFER
(B) SN @I
(C) wfZeT =i T Sy S&eller
(D) SR 7% T TFAR
28. Tfei® TgeeTEE @R “wfs At @b <rors” sifirami 10 sge = ?
(A) =rZ 8 IR PeTiel TZeIr
(B) SN @I
(C) e Ry Sge wEele™
(D) IR 3™ Tz [FR
28. TTERTE g &« Tafl fagt “adt s=na, sl ugren” urauiRai gerestt etrea it ?
(A) FEty AW 7@ 913 W6t fawe (B) g3 smers wEh fawm
(C) 3egsit IR Glean s W fewm (D) g wwe st @5t fawe
28, fr=farfga & @ &9 @1 e “adt s=neh, 98 ugrsn” s 6l Ugd | el el | ?
(A) TR TR YRER HedTor T s (B) Tmfior faehm wome™
(C) wfgen v are foremmar waTer (D) THe HETge forehE gare™

28. Which of the following ministries is NOT associated with the initiative of
“Bet1 Bachao, Beti Padhao” scheme ?
(A) Ministry of Health and Family Welfare
(B) Ministry of Rural Development
(C) Ministry of Women and Child Development

(D) Ministry of Human Resource Development
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29. T AT TRIRWIRE F'© T[S :
(A) TS (B) WI<20
(C) bl D) e
29. ST fofeeo wimyler s[fes :
A) e (B) w@R2G
(€) w7l D) fezore
29. 3TEM Hfcehe! HUIETTHTT §&T € ?
(A) oo (B) <irETd
(©) T (D) fesre
29, 378 Ufghet ol fEd & —
) foem (B) SiEre
(©) TETErd (D) fespre
29. The Assam Medical College is situated in :
(A) Silchar (B) Jorhat
(C) Guwahati (D) Dibrugarh
30. SIS HIBINT SIS (IR Rl S 16 PRS0 &ive 2
@A) e (B) ~ife=ae
(C) fofecbatizremim (D) AL TavEey
30. SIS TP SEUICo! FRie] BHL (SRR 702t TS ?
NIRERLD] (B) sifso=are
(C) Tof&Blenzrsma (D) ASAL TR
30. YA TERH gare, oM ssudyer, Mer sesi odiea ¢ ?
(A) BEIEE (B) @raH e S
(C) AR WA= (D) TSI AT SITTTTS
30. oo 35Uy, YA TR 6 fohe Tgat & A1 TR ?
(A) PRt (B) ==l
(C) fefSreeftentm (D) TSt ferenr
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30. The mission Indradhanush, an initiative of the Government of India, is
associated with :

(A) Immunisation (B) Cleanliness
(C) Dagitalisation (D) Highway development

31. OO MR SFRT 17 © (529 e %q T2 b1 51 (2R ?

(A) TPTR (B) dfhe =fi
(C) =Pl (D)
31. OIFOR MRFAER 17 7 4R @0 [ 721 3 2
(A) TPTR (B) fewm =i
(C) =Pl (D) T
31. TERN FoE! SRR wrark dfafiatt @R 17 g1 e g 2
(A) TAHEIR (B) aT=a1 s
(©) g (D) Gt
31. WRA % HGYUH 1 3TT=oE 17 Toheeh IHoH 4 Tela g ?
(A) T (B) SY AT
(C) &R (D) gdt g
31. Article 17 of the Constitution of India deals with the abolition of :
(A) Slavery (B) Bonded Labour
(C) Untouchability (D) Sati

32. 1919 57 TS G 961 At FRS =95 @It wifeeT 2
(A) A =2 Y2 F
B) TR O C FRF{E el
(C) 3% Krerem
(D) SRR 19 CHIRPRS To=11

32. T Safis @ 91D 1919 @ 5= z7fey 2
(A) AN i A
(B) TG (BTG TRFR (el ZR%e
(C) oo™
D) SIS 7: 4G <ol
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32. TR g& TARISTE 1919 HEARITE TRTETH ?
(A) T THRH MRS (B) WIS — THBIEH BIEATESTHR
(C) sTAM TGS (D) SAfAATETAT ST FAREHT
32. FAffgad @R A acm 19199 8 gg oft ¢
(A) Tore uge i fepam man (B) Tidw™ =FHHIE UR i TE0M 6l T
(C) =TT 1 fareH (D) SfTITeTeT aF $i
32. Which of the following events did NOT take place in 1919 ?
(A) Rowlatt Act was passed
(B) Montagu — Chelmsford Reforms were announced
(C) Partition of Bengal
(D) Jallianwala Bagh tragedy
33. TRleT® (R b el a7 @ 3amhel Bl Taiee F919 o0 2019 Ho1 13 I2S
S 91 (2T ?
(A) & =@ Sheg (B) w1 e e
(C) & 2 4 T S (D) @1 Iple S
33. 90w Srafis @ ~IRFemih oot 16 @ TRT 2 TS IR &) 2019 AR SEL
T SRS (T ?
(A) e ST (B) & M Sl
(C) wel f2 4 @ e (D) @ (518 SIS
33. TEMEH & HEUIREE! § 2019 WEARM A3 GHAE “ITET 8¢ YR I @it
QGRYTIE!” TG SR STEEH ?
(A) et wiferq A (B) it fereprsr i
(C) < & ¥ & AR (D) I ST I
33. o oI 3R TV AT H sfl A o fote Jarrg 2019 # FraferRaa & @ 1 ot Ao &
IS oft 7
(A) et wiferq A (B) vt e safirm
(C) T & o & ™ (D) A =3 I
33. Which of the following schemes was launched in July 2019 to accelerate

water harvesting and conservation measures ?
(A) Jal Shakti Abhiyan (B) dJal Vikas Abhiyan
(C) dJal Hi Dhan Hai Abhiyan (D) dJal Bachao Abhiyan
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34. TS (MG ZM G oRIN 497 010 Sive 72y ?
(A) TS B) e
(C) T=ile (D) <o
34. G SAlS @R 2 Yfe (591 QITed A @ 7 ?
(A)  wforIET B) e
(C) w=RMNe (D) TG
34. TEEN S€ SRR YA Al wles g ?
(A)  glermeH (B) e
(C) wsETE (D) wrElfE
34. F=AfafEd o @ F 91 WM gifey & 8 gafid &l 8 ?
Q) g (B) il
(C) drmETie (D) wERET
34. Which of the following locations is NOT associated with the petroleum sector ?
(A) Duliajan (B) Nazira
(C) Bongaigaon (D) Margherita
35. TR (1S I ) 8 Tl F9 (GST) o<l 41 02z ?
&) @ (B) @
(C) Jl=rel (D) W IENE
35. T (G =¥ 1o 8 ORI B9 (GST) B FCAfRe ?
(A) it (B) T
(C) e (D) I
35. & gretd safrggs! for Ted 31 wifife 3e (GST) 311 TH/ SMe) ?
(A)  SEA (B) W
(C) wTET (D) 3R
35. %] UF TaT KL (ST 3. ) AN B 1T Tgell < i &1 o7 ?
(A) A (B) W
(C) hTeT D) FwE.T
35. Which country was first to implement Goods and Services Tax (GST) ?
(A) Germany (B) France
(C) Canada (D) USA
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36. 2022 59 QIS A S, ASPTSS FCL FRTE ST ] ST (202 ?
@) <o (B) wewm
(C) Sr&EN (D) Teq &
36. 2022 0T QIFAIRCS (HI S IEPTSI A S fza 2
&) foe (B) Treim
(C) 9r&Ee (D) Teg &
36. 3 2022 HREYURM T THRESTE TRAM I8 TSATET THEH TSt e 3719 S -gsgal Sifed
RUE A
(A) HATH (B) HEI YW
(C) TR (D) IR
36. SHeERl 2022 T, TSI TUT T HT1¥eh HIeT ITeAT T & ¢
(A) Hich (B) weATew
(C) TR (D) IR
36. As of January 2022, the state which has the maximum number of seats in the
Rajya Sabha, is :
(A) Karnataka (B) Madhya Pradesh
(C) Rajasthan (D) Uttar Pradesh
37. TG T AETGITS R BILS IS el F<(%eT ?
Q) == (B) I
(C) frpee (D) HEBY
37. T AR ATIFIC RR e, SRS Aifvpdey Feafager 2
(A =R B) =
(€) frpey (D) HE3Y
37. = AN 3 HR TSI GT3H TH1E HRASE Sraam A ?
(A) EWEET (B) 3
(C) feomrre (D) HEST
37. Tohd TSI o STETRTA o GIH & | WA 37T o7 7
(A) EWEET (B) i
(C) feomrre (D) HEST
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37.

Hiuen Tsang visited India during the reign of the King :
(A) Harshavardhana (B) Ashoka
(C) Vishnugupta (D) Samudragupta

38.

38.

38.

38.

38.

fferfre @ 123 oo gtfes A9 (Economic Survey of India) &M
I ?

(A) BT T “ifsm (National Development Council)

(B) @ 7@ (Institute of Finance)

(C) SRR “fies @fSd (Indian Statistical Institute)

(D) f&@ TFee™ (Ministry of Finance)

o Srafirema Ti @b Sikred wLfes A1 (Economic Survey) 25 FF 2
(A) GIORT Savgel “Ifsam (National Development Council)

(B) @ %" (Institute of Finance)

(C) SR AR 712 (Indian Statistical Institute)

(D) &€ TZee™ (Ministry of Finance)

TTETATE BT SeI3TT Seh 4 TTH 375 Sreal @t fegl ?

(A) IR MY TE (National Development Council)

(B) FiEe 37 Bied

(C) sfemm Rifcwa sEIeR

(D) faffer 31 wrea

frefarRad & @ i i w1 3TTfies ToeTT TehRTTd hidT 8 ?

(A) T ferpr wftye (B) o wwam

(C) YR HRgehia T (D) T waTer™

Who among the following publishes the Economic Survey of India ?

(A) National Development Council (B) Institute of Finance
(C) Indian Statistical Institute (D) Ministry of Finance

39.

frfaie @ T TS T s FFCeT T=ome Tifeerag 8 forige taFid 2o
2 ?

(A) THETSIET (B) fe=r

€) ™ (D) Tae
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39. Wy Sl @@ g4ifere TNE Teomeie Aoom RIS NifTdege @9 g

2T ?
(A) el (B) “ffeiat
(C) Wf¥rs (D) Ta®
39. TEMEH s« G gt fHsma mae fogtum $En BrRE! Sthrat e ?
(A) HHTSETE (B) Rfve
(C) TTeATE-—HI=T @1 (D) HH @I
39. freferfiga o & fopg o #, wvft Scaress Gome Tt & i 3R fEm A g & 7
(A) THSETE (B) ISftardt
(C) fufsra (D) 3l

39. In which of the following economies, all productive resources are owned and
controlled by the government ?

(A) Socialist (B) Capitalist
(C) Mixed (D) Dual

40. RS @G!S T2 SIRIE 1942 51 SIS Sjial STHIET G FMRE 2
(A) PR o1F (B) IR tefeam
(C) %53 IS Wi (D) @il Twie

40. TG SR @IF 2 1942 A T2 IR AR SRS RITSl StiEH SHE 23Re ?
(A) RS 7S (B) IR EHREAN
(C) 5P FIS Twi= (D) @il Twie

40. TEREM 96 ARAMHwE qgTcAT M3 ‘YRd TR SHEERAE @ S 1942 ARIREE ST
ST HH ?

ENERACIEIRIED (B) s wfeam
(C) 3T i Bew (D) swife A
40. I 1942 T HgTeAT el gRT YA Bl 3eie FHefeiRad # & fohd wem W e foram mm o 7
ENIRACIEIRIED (B) s wfem
(C) 31T Shifel Hg™ (D) st #eH

40. In which of the following locations was the Quit India Movement launched by
Mahatma Gandhi in the year 1942 ?

(A) Shivaj Park (B) Brabourne Stadium
(C) August Kranti Maidan (D) Pragati Maidan
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41.

41.

41.

41.

41.

75 AN FALG. 40 Wi P ST, 4 | MAMGE Adw 12 2@ Freed @erre

2

29

(A) 20 (B) 24
(C) 28 (D) 32
w216 TR FALG. 40 @R 513718, 4, T 72l 72 “11<<6 12 = O Sl @lofeeT ;
(A) 20 (B) 24
(C) 28 (D) 32

T ST 3.37.91. (LCM) a1 I 40 IR S8R <.37.91. (H.C.F.) a1 9o/ 4 |
Sfe o 3FRHT THARN TSRS SR BRETRRT 12 S, 376 § 3FRNET B greremd
59 ?

(A) 20 (B) 24

(C) 28 (D) 32

Tl TS 61 Tt H.uH, 40 7 3T 371 . H.TE. 4 3 | A Q Gt o " *H1 3@ 12
2, A EEIH HIAMR :

(A) 20 (B) 24

(C 28 D) 32

The LCM of two numbers is 40 and their HCF 1is 4. If the difference between
the two numbers is 12, then the sum of the numbers is :

@A) 20 (B) 24
€) 28 D) 32
42. J51+\/134+5J42+\/E+\/§ T :
@A) 52 B) 8
©) 19 D) 9
SPACE FOR ROUGH WORK

SLRC-2022/P-III/A 28



. J51+J134+5J42+\/E+\/§ AT i =

42
(A) 52 (B) 8
©) 19 D) 9
42, TERTE BT TRTH AH fegT |
J51+J134+5J42+\/E+\/§
(A) 52 (B) 8
(C) 19 D) 9
42. 3rfirefad
\/51+\/134+5\/42+\/E+\/§
WII'F{%:
A) 52 (B) 8
©) 19 D) 9
42. The value of the expression
\/51+\/134+5\/42+\/E+\/§
1S :
(A) 52 (B) 8
© 19 D) 9
43. 273 299 I SR 1 40, 3 T 239 e ST 2 A7 SF 4 (F 296 FECE Sl
3 2l (T2 ARHIH! (22 :
A 25 (B) 41
(©) 13 D) 11
SPACE FOR ROUGH WORK
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43.

43.

43.

43.

GG AT 2 BRI Sl9) FACE ST 1, 3 7T Slol FACE ST 2 @G3R 4 &R Sl FHCE
SRIGEERCIITE

A) 25 (B) 41

(C) 13 (D) 11

A ARG 2 S TR TAEIRT SR 1; 3 S THATRTd THEgRT SR 2 3T/ 4 S
TS TR SR 3 | o STARSHRI SIe

(A) 25 (B) 41

(C) 13 D) 11

T T e 2 | fafora Bt B, A A9kt 1 AT g; 3T WFI G W 2 AN F=dl g 34 T
AMSHA W 3ITTAATR, TE @ :

A) 25 (B) 41

© 18 D) 11

The number when divided by 2, leaves remainder 1; when divided by 3,
leaves remainder 2 and when divided by 4, leaves remainder 3, is :

A 25 (B) 41
(C) 13 D) 11

44.

TR G ©2AR#9 =11 3 Jfan M0t ARG 330 Tofe] vgefi<al I =11 | SAIXGE 3177 T

2

?4q:

4) 3 (B) 4
©) 5 D) 6
44. G AR T 3 7 IS 0T @G b7 ©Ita fom 3ffe =7 | s o -
4 3 (B) 4
©) 5 D) 6
SPACE FOR ROUGH WORK
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44, Y S@EERIH (fraction) TASTHET (numerator) 3 SESAT § SREE@GISAT fof
3/4 IR | & SRETSEGIT TSI SATe T
A 3 B) 4
© 5 D) 6
44. 9 TRe i s H 3 H g Bt 7, A A - fr gfg ez 1 i w s e -
A 3 B) 4
€ 5 D) 6
44. When the numerator of a fraction increases by 3, the fraction increases by its
three-fourth. The numerator of the fraction is :
@) 3 B) 4
€ 5 D) 6
1 1 [ 2 .
5. 5 \/; J;w\/;awmm.
2 1
(A) \/; (B) \/;
1 1
©) 3 D) \/;
T T R ) .
2 1
(A) 3 (B) \/;
1 1
©) 3 D) \/;

SPACE FOR ROUGH WORK
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4

Ot

1 1 1 2
) \/;\/g\/gaﬂﬁ\/gﬁmﬁmﬁmm
2 1
1 1
45 \ﬁ ﬁ \P s \/gé;aﬁ%rwﬁiﬁa%:
2 3 4 3
2 1
1 1
45. The smallest among \/I, \/I, \/I and \/2 1S :
2 3 4 3
2 1
1 1

46. TMx= /3, OBt + %ﬁwm:
x

1 1
A) 9— B 2=
A) 9 (B) 9
1 1
C) 9— D) =
(©) 5 (D) 9
SPACE FOR ROUGH WORK
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46. TMx= /3 W@ x4+i4émw:
X
1 1
A) 9= B 2=
A) 5 (B) 5
1 1
C) 9— D) =
©) 5 (D) 5
46. ﬂ%x=£,mx4+%ﬁﬂﬂmﬂﬂﬁ?
X
1 1
A 9= B) 2-
A) 5 (B) 5
1 1
C) 9= D) =
(©) 5 (D) 5
16. AR x= 3, Aat+ L wARE:
X
1 1
A) 9= B 2=
A) 5 (B) 5
1 1
C) 9-— D) =
©) 5 (D) 5
46. If x = /3, then the value ofx4+i4is:
X
1 1
A) 9= B 2=
A) 5 (B) 5
1 1
C) 9= D) =
(©) 5 (D) 5
47. I EY_ 2 e XY qym.
3 4 7° 2z '
A 1 B) 3
©) 2 (D) 4
SPACE FOR ROUGH WORK
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47. W E=Y e YTV qmomm
3 4 7 2z
A 1 B)
6 2 D)
47. AR E=Y 2 e XYy aman wwim
3 4 7 Z
A 1 B) 3
6 2 D)
X Z X+y+2
47. Wﬁgziz??ﬁ zyz O R
@ 1 B) 3
© 2 D) 4
47. If f:X:E,then Xry+rz 1s equal to
3 4 7 2z
A 1 B) 3
6 2 D) 4
48. VTS GHitF TR AW W Ko 1 GG TS TRUE @I9FE 64 | FRAFCILLR T
T R2ICH! (=0 :
A) 13 B) 11
(C) 16 D) 9
48. TR &TSF ?RIS FRSF (consecutive alternate) FAE @IS 64, ATE TCHJ oY
R
A) 13 B) 11
(C) 16 D) 9
48. TS BTN S AR SR grerTan e 64 | SERE wrere e smfmmn smam
(A 13 ®) 11
C) 16 D) 9
SPACE FOR ROUGH WORK
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48.

48.

TR SHANTA TSIl SIS 1 AT 64 7 | 378 § 999 B &I 1 -

A 13 B) 11

(C) 16 D) 9

The sum of the four consecutive alternate numbers is 64. The smallest
number amongst them is :

A 13 (B) 11
(©) 16 D) 9

49. WO TR 2 1 3 TPHITS B Wi FRO 1718, | 91378, 7= (=R 96 | TR
VBT Q@o1e] (2%
A 8 B) 12
(©) 20 (D) 36
49. 730 MR TS 2 @ 3 IR SR ALY, IR AALE. G 77 T4 96, 72! 7307
(197zFeT 26T
A 8 B) 12
(€ 20 (D) 36
49. HAA IR FHUE IR 2 ¢ 3 FIR SERM 33791 (LCM) 3/ <.31.91 (HCF) &
HSTTERTIAT STETT 96 | & Wi ST greiemmat fog |
A 8 B) 12
(©) 20 (D) 36
49. YT 2 : 3% I H & 3T 376 LCM 3Tt HCF 1 [UH%eT 96 7 | TEA13T BT AT 2 -
A 8 B) 12
(©) 20 (D) 36
49. Two numbers are in the ratio of 2 : 3 and the product of their LCM and HCF
is 96. The sum of the numbers is :
A 8 B) 12
(©) 20 (D) 36
SPACE FOR ROUGH WORK
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50. W ‘A’ IHANT ‘B’ O 25% @R, (508 ‘B’ I 7AWl ‘A’ I HANZS(S (Bl *SI 5 2 2
(A) 20% (B) 25%
©) 12%% D) 16%%
50. WA, ‘B’ (ATF 25% @ (@0 AR ©F ‘B’-G7 @0 ‘A’ (UTF F© *O[H 9 2 ?
(A) 20% (B) 25%
©) 12%% D) 16%%
50. Jfg A 1 9uman B 1 semfgs 25% aifdH, s B 1 aumsn A 1 semfrgs o8 S
g ?
(A) 20% (B) 25%
©) 12%% D) 16%%
50. If¢ A H1da B o ddq 8 25% 3Tk &, df B 1 da" A o oa- § foha-1 Ifaea a8 ?
A) 20% (B) 25%
©) 12%% D) 16%%
50. If the salary of A is 25% more than that of B, how much percentage is the
salary of B lower than that of A ?
(A) 20% (B) 25%
©) 12%% D) 16%%
51. «bIMeR (PG o AF 98 Bi Bfr [Keetiat C2feeT | &ters ol o1'q12 3t weiihre o<Fl 7'
AR 7T AR BRAS sl If2feet, (S0 Helhie 26l &1 919 TR ™R
A 5 B) 7
(©) 10 D) 14
SPACE FOR ROUGH WORK
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51.

51.

51.

51.

98 T BfF (toffees) IF W&l (R(FA WY K09 I ST 2 | Felb7 ATSPIL (RCA, Fel0d
Sy AR 4289 BRF (toffees) ToT | FRIBCS (RCSE STy AL fize

A) 5 ®) 7

() 10 D) 14

T8 Il @R EEEmBAT 98 2% (toffees) THAR SIEMIM | & Srell SIaTET ATHHST
AT U BETHRA IHNEN 2 T 2 TEH | Siellerd UHE SmErsR
SHRSTHRT AT ?

A 5 B) 7

(C) 10 (D) 14

Teh T H $ TSl Bl 98 IhRAT §1dl TS | TG o Teh cTgeh ohl, TTGehi chl HE&AT & & T
ifteart fireff | Tmg o crgent <Al T of -

A 5 B) 7

(C) 10 (D) 14

98 toffees were distributed to some boys in a group. Each boy in the group got
twice as many of the toffees as the number of boys. The number of boys in the

group was :
A 5 (B) 7
(C) 10 (D) 14
52. M cos 0= %, (S(® sec O I :
2 2
-b b
(A) aT B) -
a
(C) +a?+b? (D) b
a+b
SPACE FOR ROUGH WORK
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52. M cos 0= %, ©[ sec O I T 2(J
2 2
a“—b b
A) b B —
a
(C) +a?+b? (D) b
a+b
52. JIf¢ cos 0 = %, IT&AT sec O T 93T e
2 2
a“—b b
A) E— B —
a
(C) +a?+b? (D) b
a+b
52. Jfc cos = %,T‘ﬁsec 0 T 9T BT :
2 2
a“—b b
A) E— B —
a
(C) +a?+b? (D) b
a+b
52. Ifcos 6= %, then the value of sec 0 will be :
2 2
-b b
@& 2 ®B) -
b a
(C) +a?+b? (D) b
a+b
SPACE FOR ROUGH WORK
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53. bRl fags #1511 G2tz 6 .. | faganr Iz
A) 6T.f2 (B) 6 w.M.2
(C) 3T.f.2 D) 3 w.[.2
53. (b T fagrem «ifafy 6 on:fir: | fagefba vwaws ze ;
A) 6TLf2 (B) 6 TiLf2
(C) 3wLfz (D) /3 A2
53. TG TRIT @ @ty @i fmmen 6 3.fr. Srisen & smenfyumiy gsssim
59 ?
A) 6 @M B) 6 @.f1)2
(C) 3@.fy)2 (D) /3 @.fir)2
53. Teh GHETE B 1 i 6 .71, 2 | Byt 61 &bt B
(A) 68.1H.2 (B) /6 @2
(C) 3u.2 (D) +/3 9.1.2
53. The perimeter of an equilateral triangle is 6 cm. The area of the triangle is :
(A) 6cm? B) /6 cm?
(©) 3cm? D) V3 cm?
54. /0.04 ++/1.44 ++/1.69 ++/0.0009 3 T+ (2= :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
54. /0.04 ++/1.44 +1.69 ++/0.0009 &3 I :
(A) 1.73 (B) 2.03
€ 2.73 (D) 1.03
SPACE FOR ROUGH WORK
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54. +/0.04 ++/1.44 ++/1.69 ++/0.0009 1 AT &=
@) 173 B) 2.03
© 273 (D) 1.03
54. /0.04 ++/1.44 ++/1.69 ++/0.0009 HIUFE :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
54. The value of 4/0.04 ++/1.44 ++/1.69 ++/0.0009 is :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
55. TPIC & TRIIT 45% J T S LY GG 30% T AN | &I S TSR AR SoIio
ek
(A) 2:3 (B) 3:2
(C) 3:5 D) 2:5
55. G5 TRANT 45% T GG TR 30% 9T AN | & Ly @ Ty Alze
eI
A 2:3 (B) 3:2
C) 3:5 D) 2:5
55. HHE AN 45% 31 TS WA IARNEATT 30% S @0E S | Afy a1 afy
AT TS A&
(A) 2:3 (B) 3:2
(C) 3:5 D) 2:5
55. Tsh HEAT T 45% GO FEAT % 30% ° THIH & | Taell T hl gl H&AT § 31 & -
(A) 2:3 (B) 3:2
(C) 3:5 D) 2:5
SPACE FOR ROUGH WORK
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55. 45% of a number is same as 30% of another number. The ratio of the first
number to the second number is :
(A) 2:3 B) 3:2
© 3:5 D) 2:5

56. feTeid ©izg (ofete @F 5l Qe &l 9 ACS effeita O &=l 1 49 “/fwiel
Iisfieres T 12 @R | I O 2w el T 12 @ 59 SIS I, (S8 30 Teq 5% &=
EIRUECE RIS
(A) 5,420 B) 5,580
(C) %5,620 D) 5,780

56. Tl ©IF Tl UIoR GRSIE AW T @ @S O St i S i (20 7 12 Bi
T = 1AM G722 e % 12 Bl el M e 0 il fores (WG e 30 e ¢y
2
(A) 5,420 B) 5,580
(C) %5,620 D) 5,780

56. fotsen Mafd GHYH § (Savings Bank) 37@ T GHYAT | 9T SHYFAT faeist arshwe!
A TS gHYEAR fesifags 7 12 T SifeE ST o | i 9 7 12 T Aty gEfee
SHYAATIGE! SRS 9 30 T Sieamma fos g ma fesis sm=
(A) 5,420 (B) 5,580
(C) %5,620 D) 5,780

56. IS 3704 S=Id o H 39 e § TH1 TH Ll & b T e T 3weht St iy 35k fusal

fem <t s wfr & % 12 31feres 71 | Afe 98 veat fed T 12 STwn st &, i often g 30 feai
31d | 1 <Al TS et T Bt

(A) 5,420 B) 25,580
(C) % 5,620 D) % 5,780
SPACE FOR ROUGH WORK
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56. Liza deposits money in her savings bank in such a way that every next day
her deposit amount is ¥ 12 more than her previous day deposit. If she starts
her deposit with ¥ 12 on the first day, the total amount deposited by Liza at
the end of 30 days will be :

(A) 5,420 (B) 5,580
(C) 25,620 (D) 5,780
57. S TIG (Data Set)
1,2,4,1,5,12,7,8,5,1, 16, 17, 12
T 51 feref 4l |
A 8 B) 7
© 5 (D)
57. O AI6A Tl 1ol 39
1,2,4,1,5,12,7,8,5,1, 16, 17, 12
A 8 B) 7
© 5 D) 4
57. TIERITE SHR QIR ot @t 710K |
1,2,4,1,5,12,7,8,5,1,16, 17, 12
A 8 B) 7
© 5 (D)
57. ST i AITEAHT ATA HIT |
1,2,4,1,5,12,7,8,5,1,16, 17, 12
A 8 B) 7
© 5 (D)
57. Find the median of the data set.
1,2,4,1,5,12,7,8,5,1, 16, 17, 12
A 8 B) 7
© 5 (D)
SPACE FOR ROUGH WORK
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58. ,/22 1/ﬁ—‘/ I g T |
729 144
7
A —— B -
A) 9 (B) T
20 11
D) ———
27 D) 36
58. /22 ,/ﬁ_,/ L
729 144
7
A —— B -
A) 9 (B) T
20 11
D) ———
27 D) 36
/22 / 25
58. —_— fam Iégq ?
729 144 V
7
A —— B -
A) 9 (B) T
20 11
c —— D) ——=
© 27 D) 36
225 25
58. _— L —— bl HIH
1/72 1/14 1/ ST <hIfSTT |
7
A —— B -
A) 9 (B) T
20 11
C) — D) ——
©) o7 (D) 26
58. Find the value of 1/% —Jﬁ —JE .
729 144 81
5 7
A —— B -
A) 9 (B) T
20 11
C) — D) ——
© 27 D) 36
SPACE FOR ROUGH WORK
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59.

59.

59.

59.

59.

‘A @ @I P Eea <[ [l 1:00 Fere 1 3./ 63 @9 i@l e FEE | B @
«F 2 P  7[ @6 e [@fer 1:10 qeie 2 ./ Gres @61 Tl WS e | H
B A AT QTS AR, (S8 PQ I T :

A) 1.5R=M B) 1.75F.M

C) 1278 (D) 1.25.:.

‘A’ SR @ P SRR (AF [epe 1:00 9P &fs oty 1 MoK wos W 39 |
B [t 1:10 PR @2 T2 P (AT 952 ey &lfs ¢leacsy 2 Wi woor Iial
W B | AW B, A 93RS Q HEI [WeTe 2 w7 PQ 79w -

A) 1.5=M B) 1.75F.M

(C) 1.2Rf D) 1.25RF.f

‘A’ 31 P Sl 1:00 fu.wm, fomeme 1 (. /as<) @remssi eeemr | ‘B’ el § T
ST P faser o1 we ferma 1:10 fu.ww. fomema 2 fir./deh wremsst geern | i B
3 A’ G TR Q 31Te enTEHTset, PQ & smsan Sirem

A) 1.5 f%.fa B) 1.75 5.

(C) 1.2 f%.fa. (D) 1.25f%.f.

‘A’ IR 1:00 S 319 I T P & 1 AL /AL 6 1fd W IE waT R | B ST A 35§
WA P AR femd guer 1:10 5w 2 Y. /4. R Afd @ e Har 2 1Al B, ‘A8 Q
W‘Hﬁﬁ%,?ﬁPQaﬁ@%:

(A) 1.5 fw.. B) 1.75 w1,

(C) 1.2 Tt (D) 1.25 fep.1fi.

‘A’ starts his journey at 1:00 p.m. from a location P with a speed of 1 m/sec.

‘B’ starts his journey from the same location P and along the same direction
at 1:10 p.m. with a speed of 2 m/sec. If ‘B’ meets ‘A’ at the location Q, then the
distance PQ i1s :

(A) 1.5km (B) 1.75 km
(C) 1.2km (D) 1.25km
SPACE FOR ROUGH WORK
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60.

60.

60.

60.

60.

T G AN o1 &AW 40% BT 91 B3 HiF ©F (1= 20% I 91 ' | To9 10
i #AfE (70 :

(&) 20% (B) 40%

(C) 24% D) 28%

G5 T IoT A 40% FAICA Be 4R OR#F 20% I 91 =91 | Y0 W16 ARS
W

A) 20% B) 40%

(C) 24% (D) 28%

T SETE SEAST fifeama 40% @HET S SHHE 20% SWET | SEEH SEET e
EEESICIEARI I IELCl

(A) 20% (B) 40%

(C) 24% (D) 28%

T a5 hl HHA H T8 40% h HHT h ST 7 IR T 20% H ghg 6t It 7 | Hwa |
pEACRER LI

A) 20% B) 40%

(C) 24% (D) 28%

The price of an article is first decreased by 40% and then increased by 20%.

The net change in the price will be :

A) 20% (B) 40%
(C) 24% D) 28%
SPACE FOR ROUGH WORK
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From Q. 61 — Q. 63 : Insert the correct options in the blank space :

61. On the moon, air because the Moon’s gravitational field is too weak
to retain an atmosphere.
(A) thereis no (B) where no
(C) no (D) 1sno

62. in front of a camera lens changes the colour of the light that reaches
the film.
(A) Placed a filter (B) A filter is placed
(C) A filter placed (D) When a filter placed

63. In 1850, Yale University established Sheffield Scientific School,

(A) engineers were educated there (B) where engineers were educated

(C) 1in which, were engineers educated (D) where were engineers educated

From Q. 64 to Q. 67 : Choose the correct pair of words which are SYNONYMS to

each other :
64. (A) Emigrant — Immigrant (B) Piece — Pierce
(C) Frugal — Thrifty (D) Irritate — Instigate
65. (A) Rely — Resist (B) Rule — Rue
(C) Secret — Clandestine (D) Site — Sight
66. (A) Deride — Arrive (B) Derive — Divide
(C) Deride — Mock (D) Mock — Praise
67. (A) Citizen — Foreigner (B) Citizen — Emigrant
(C) Citizen — Subject (D) Citizen — Immigrant

From Q. 68 to Q. 70 : Choose the correct pair of words which are ANTONYMS to

68.

each other :
(A) Folly — Stupidity (B) Sweet — Salty
(C) Visible — Unvisible (D) Scatter — Collect
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69. (A) Advance — Retreat (B) Abandon — Desert

(C) Elevate — Raise (D) Value — Success
70. (A) Acquit — Convict (B) Expect — Hope
(C) Faithful — Loyal (D) End — Finish

From Q. 71 to Q. 76 : Choose the correct options which best explains the meaning
of the given idioms :
71. “To split hairs”
(A) To quarrel bitterly
(B) To complain about every small detail
(C) To argue about trifles
(D) To study every detail minutely

72. “Nail the lie to the counter”
(A) To blame a person for something (B) To expose publicly
(C) To investigate an allegation (D) To lie vehemently

73. “To see red”
(A) To be mad with anger (B) To see danger
(C) Sunset (D) To be drunk

74. “To hit below the belt”
(A) To trick the opponent (B) To defeat the opponent
(C) To take bribe (D) To act unfairly in a contest

75. “To beat about the bush”
(A) To prune the bush
(B) To approach a matter directly
(C) To approach a matter in a roundabout manner
(D) To discuss a matter endlessly

76. “Bird in hand is better than two in the bush”
(A) Probability is better than possibility
(B) Certainty is better than possibility
(C) Possibility is better than probability
(D) Probability indicates certainty
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77. Choose the correct order to complete the sentence :
I. Ismelled the gas
II.  Door of my house then
ITII. As soon as
IV. 1 opened the front
A) I II II0, IV B) IIL II, IV, I
(C) LIV, II 1 (b) III,1v,I, 11

78. The following sentence is divided into four parts. One of the parts has an
error in it. Read the sentence and find the part containing the error :

“The movement which aims at
@)
raising awareness about climate change, hopes
(II)
to bring people together to think about
(1I0)

what they can do for reducing harmful pollution.”
V)

@A 1Iv (B) III
©) I (D) 1I

79. “For the little boy, a lolly was tangible, whereas a promise was not.”
The word tangible in this sentence means
(A) Basic (B) Untouchable
(C) Actual (D) Edible

80. Which among the following options is correct ?

(A) My thoughts are with the families of those who have lost their loved
ones in this unfortunate accident.

(B) My thoughts are with the families of those who has lost their loved ones
in this unfortunate incident.

(C) My thoughts are with the families of those who have lost their loved
ones in this unfortunate events.

(D) My thoughts are with the families of those who have lost their loved
ones in this unfortunate incidents.
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81. 3RJG IR FIICH! 3¢ BT AR <1t @IS 3¢ AT G frefeet s 2Te =itz ?
@ D B) W
(C) R (D) E
81. T ! 3 I 6 (ATF A (7th) T @R TR i (AT QAT (16th) BT
IR ?
@ D B) W
©€) R D) E
81. IS STEMTATH & RGNS AT fore faf smfafvem ferfusma € 2
4 D (B) W
©€) R D) E
81. TS AUHTAT T hi< BT 318 TR B HleTgd &R o oT¢ T HTdd I W[ & 7
4 D (B) W
©) R D) E
81. Which letter of the English Alphabet is the seventh from left of sixteenth
from right ?
4 D (B) W
©€) R D) E
82. <fibe 31’3l bl Io© WY (2 A% T2 | oA, @Ife® AT 7' aAferes Aers Sz | I
[T INSFIE SR | (@IS 11 ST 2 | SEFS [0 PIRFICE (e 202 ?
(A) [ (B) Gl
(C) wifzs (D) welre
82. “ibeH (=(F JEIFIE VAZ TR ICT (2 | e @ITS G2 TS W& ICR | 7]
ICETR ANUCP, @IES FHER AN | (& TG 5 T I0T= 2
(A) [ (B) Gl
(C) wifzs (D) weire®
82. AT BEMTHT THY s SREAT ¢iF | Ufed 10 garfsaf Towe stemst [ |

HAS A SRR 3 Ufgasn gaafy smfafy e | st smrerfoemme |k
SR 2

A) gaa (B) ™A
(C) ufza (D) et
SPACE FOR ROUGH WORK
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82.

82.

i Teh Teh B H T GER ol |THHT hid 5T SIS & | 3791, Ufed 3R grersiia < o= & | goH,
T o oS 3TR &, Ufed, o & 918 AR 2 | 39T % 3ish R I 93T 8 ?

@A) = (B) v

(C) Ufed (D) Qrewsid

Five boys are sitting in a circle facing inward. Ajay is between Rohit and

Doljit. Suman is at the left of Shyamal, Rohit is at the left of Suman. Who is
sitting at the immediate right of Ajay ?

(A) Suman (B) Shyamal
(C) Rohit (D) Doljit

83.

83.

83.

83.

83.

o G (S6F FGISF 3 =T TILT |IF (967 I (9€F 7[99 I SifKse | 7™ 3
T34 FITS (967 %[@9 T 15 24 2T, (S(B (S€F T TN 57 (22 —

(A) 6039 (B) 513=3

(C) 48<=9 (D) 453=3

GFE (FIF O TR (T oo I I R O (20 WO BIF @9 T | A 3 I
R S (=R T 15 I R, OF O B TOT T TS ?

(A) 6031 (B) 513

(C) 4831 (D) 453

@ aafen fofr fafafgg SR 3 @i s maf feasent gz 4 T @i\ | 9fe
ThaTseTTa SEe SR U e 15 SR SRS, § AEEE i agen snitramese
99 ?

(A) 60 FER (B) 51€HER

(C) 48 ¥ER (D) 45 €SER

T 3TeHT 3T I & 3 Wit 991 R 3N 0N S A IR A 91 ] | IS g 3 o W1 15
18 ST 2, i 3FhT Teht bl adHH Mg R

(A) 6099 (B) 5199

(C) 4899 (D) 4599

A man is 3 years older than his wife and four times as old as his son. If the
son becomes 15 years old after 3 years, the present age of his wife is :

(A) 60 years (B) 51 years

(C) 48 years (D) 45 years

SPACE FOR ROUGH WORK
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84. IfSo[R “5® ifrel @Te ATl WF ARl TR TR $vaee =ifE =ifewt | AR
(T @ RO 2ITH! ©I2T SRS #IRTR | ARSI @I 9 S e ?
(A) W B) =
(C) Tex (D) Mo
84. ISl GIR TS| FFIECE AN QPG S QPG MG Q9 PR | ARl (79e] @
STROR TR AROR AT SR | AT FEMCE I I AR ?
(A) Tl B) &
(C) Tex (D) ~fF6x
84. wftar 3 Afsrarn Bivaama faar arfiare m g e | afearn afaf aree
Tttt sfaf 3 | afsdren 59 forfe arat s e ?
(A) @rer (B) IS
(C) @t (D) TN
84. W TR Tlar gore =l & T gAY o UTH 31 T8 & | W@ 5 <@ o |t o 918 AR @
1 B oft | Aferar fope feum 6t 3R 3= oft
A) e B)
(C) W (D) ufe=m
84. Sarita and Savita were coming to each other in the garden in the morning.
Savita saw that Sarita’s shadow was at Sarita’s left side. Which direction
was Savita facing to ?
(A) South (B) East
(C) North (D) West
85. M ad20% I T b =, TOCSB 20T b% I INN 2T :
(A) ad4% B) ad6%
C) ad8% (D) ag910%
85. M a GIR 20% b TSI 20 99 b% AT TJ :
(A) a994% B) a996%
(C) a <9 8% D) a 49 10%
85. dAficafi20% bR 20 T b% 3m i 9HE SITTA |
A af4% B) afi6%
(C) afi8% D) af110%
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85.

85.

Ife a BT 20% b &, AT 20 T b% THH B -

(A) a=l4% (B) al6%
(C) a=i 8% (D) a1 10%
If 20% of a 1s b, then b% of 20 is the same as :

(A) 4% of a (B) 6% of a
(C) 8%ofa (D) 10% of a

86.

86.

86.

86.

FROI2 ©I2q FRIEET [l 2 6.1, 57 e T wiF ©iF e Gl g4 8 &6, 3 |
O free w9 sEmed 2 &6 e afwaied 4 6.5 3R | sReEe ol Jlewi g}
1 5.1, sfoa 361 =i e @160 Toifge 27 | SRR SRR o @965 e
TN P 79 (2R :

A) 25 M. (B) 13f.f.

C) 12 %M. (D) 17 <M.

Fhret R wfe @ @G 2 fRfve [Jfies, 8 faifi o Tfes, Sivm 2 [eefie
o1 ffeite @<k SRR 4 fRsfire whwa e T | SR oF AW s (e for 1 feefis 2%
SR SRIGT TR | SRS S[PT 93RS SRFET 0 RS IR 772 (aerial
distance) 24 :

(A) 25 feefis (B) 13 fwefis

(C) 12 fFefis (D) 17 feefis

HicArE M AEgtHE e 2 f6. M. aEmn | sfee mat st 8 km
(fop.T1.) grenTrT w2 6. T, ememree S o @ienfy 4 fop. fir, ameme | Seumme
forn armrfafer fiféan 1 f6.fir. emammma wafa 77 3ma @ | wfvarft gagfa sm fafa Tt
TR TERE SR (Aerial) STHEATSAT SITER

A) 25 f.fu. (B) 13 f%.fa.

(C) 12 f.fu. D) 17 f».fa.

SHigar 319 HwrTerd & 2 fop.wft. qd it 3R =erdt 7, bt 8 fo.oft. € 3w ok fose 2 fop .
e <l 3R 3R Rt 4 Fop.oft. cferor <Y 3T wrereh B | 37a W g @1d gedt R 3N 31 srdie
T Tga o fo7u 1 foh. . =it @ | i o SrRiie iR 3Heh ST1CHE o s =IJad gaTs

iz
A) 25 fop.1t. (B) 13 ..
(C) 12 fer.1t. (D) 17 fw.1.

SPACE FOR ROUGH WORK

SLRC-2022/P-III/A 52



86. Kabita walks from her office 2 km to the east, then 8 km towards her right,
then 2 km towards the east and then 4 km towards the south. Finally she
turns left and walks 1 km to reach her apartment. The shortest aerial
distance between Kabita’s office and her apartment is :

(A) 25 km (B) 13 km
(C) 12km (D) 17 km

87. 35 : 6T T (S MEA(S A5 o 16 B3 41l |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11

87. I Al THICIT 35 : 6 Y O GP2AFA ©IF ToIFS ©f fordioe) 31 |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11

87. TR JANH TG ARG, S ST 78T 35 : 6 SRed SHGITH |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11

87. U TSI I 1 93 i fTGH I TE&ATE IH ThR Teed g 98 35 : 6 7 |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11

87. Select the number pair in which the two numbers are related in the same
way as 35 : 6.

(A) 85:9 (B) 64:8

(C) 26:5 (D) 120:11
88. frraferire =w(a1q Ffewiceral ol wigfe)f e el -

(1) TR (2) WY (3) fawmest

(4) T (5) frmiel (6) I

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3

) 5,4,1,2,3,6 D) 1,5,2,4,6,3
88. ICy Tral¥r® xS Jhesd g3k wesjefeicq sAres :

1) W™ (2) TNCH (3) W™

4 3 (5) T=alst (6) 30!

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3

C) 5,4,1,2,3,6 D) 1,5,2,4,6,3
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88.

88.

88.

TETATE BT HIGIhRE! Al 41 TR ST SIS €IS |

(1) <M (2) SEes

(3) WINIEEH™ (4) 3@

(5) TEH TRUM (Low Pressure) (6) Qs

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3
C) 5,4,1,2,3,6 D) 1,5,2,4,6,3
Freferfian i 1 AT SR srelget 7 o I

(1) e (2) T (3) T

(4) =i (5) hH g (6) @

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3
C) 5,4,1,2,3,6 D) 1,5,2,4,6,3
Arrange the following words in a logical and meaningful order :
(1) Cloud (2) Rainbow (3) Devastation
(4) Rain (5) Low Pressure (6) Flood

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3
) 5,4,1,2,3,6 D) 1,5,2,4,6,3

89.

89.

89.

I ‘HONESTY’ 3 5132468 5@ Wi ‘POVERTY’ F 7192068 fpid forat =3,
(ST G5! (FI0UE ‘HORSE’ 7 o112 =7ifara ?

(A) 50124 (B) 51042

(C) 51024 (D) 52014

T ‘HONESTY’ 5132468 2011 @11 28 @R ‘POVERTY’ 7192068 BOTE @141 =3,
I IR A ‘HORSE' 5 ©Id @1t i 2

(A) 50124 (B) 51042

(C) 51024 (D) 52014

Jfe HONESTY @t 5132468 S fersem 3 POVERTY @ 7192068 i
TS o W& 3HRT EE! (code) ST HORSE @t Arai foremn 2

(A) 50124 (B) 51042
(C) 51024 (D) 52014
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89. If¢ HONESTY &1 5132468 3Tt POVERTY &1 7192068 forat wiran 2, o 35t g &
HORSE ! for@r sman &
(A) 50124 (B) 51042
(C) 51024 (D) 52014

89. If HONESTY is written as 5132468 and POVERTY is as 7192068, then in the
same code, HORSE is written as :
(A) 50124 (B) 51042
(C) 51024 (D) 52014

90. 200 . == 100 . TR 73 @IS FEE 20 . / BT oF 22 ./ Grres @5
TG S 9IS TR R | AW @A9MNE 73+ G5! Vs 9 I, (ST8 9T HLeTe
o BRCE [P TR SIS 23 ?
(A) 212 Y (B) 135 @S
(C) 150 oY D) 120 TS

90. 200 fGIF ==l €3 100 FEIK ==l 126 9IS TSARTSIR FFE &fs Erce 20 FoR
R elfs eIy 22 fiGR afers vz | I G 136 9RE «Fs iis 50 o@ G
TP SO FACS PO IR F9NF ?
A) 212 P (B) 135 BTPY
(C) 150 TIFS (D) 120 TIES

90. form S W™ W@ 200 . 3R 100 fir. Mo emts wafy Mafysn smam 20 /4.
3 22 T /@, | Ife Termts meen v fome @R, S@ Mematy 34 o aE AR 2
A) 2124, (B) 1359.
(C) 1504. D) 1204.

90. 200 HeX 3R 100 HreT ol g ¢+ HuwT: 20 Hey/Fehs 3R 22 Wi /Ahs i g T TR
T T 2 | A I wh A fown =@ W E; @ 3% U g 1 IR S | fopa e @ 7
(A) 212 9%s (B) 135%%s
(C) 150 Eehe (D) 120 s
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90. Two trains of 200 m and 100 m long are running parallel at the rate of
20 m/sec. and 22 m/sec. respectively. How much time will they take to cross
each other, if the trains are running along the same direction ?

(A) 212 sec. (B) 135 sec.
(C) 150 sec. (D) 120 sec.

91. (@I O fqged AR IS SIS % % i I 27 2PN 104 .M. | fagsGR
5120 Tee Aid e
(A) 52T, (B) 48 T.1.

(C) 44T, (D) 40 .J.

91. @ fqored AL S %:%:i @R AR (perimeter) 104 GIGRGE | fagres
AT 12l 2+ -

(A) 52 TGN (B) 48 TIFBNOE
(C) 44 TABRGA (D) 40 TIFBHGE

91. HHH IMETAEH JTETGRMA FJATEHT ATER %%i IR ARfIfG fmmn e
104 8.1, | & smETfyemat MeEReE SR e
A) 524.fa. (B) 484.fa.

(C) 44¥.f. (D) 404E.f.

91. TS Bt ¥ YSA3T H1 SFITa %% i%aﬁimqﬁm 104 9.1, 7 | Bie Y weg ot
LECE
(A) 52T, (B) 48T ..

(C) 44T, (D) 40 @1,

91. The ratio of the sides of a triangle is %%% and its perimeter is 104 cm. The
longest arm of the triangle is :

(A) 52cm (B) 48 cm
(C) 44cm (D) 40 cm
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92.

92.

92.

92.

ferRiz Qe BemE 630 IR Blfee, A7 Geree 2@z TFe IR Fa19 20 e S
& e e | (G I il 45 M e femiE foemsie sl | 2R Srmem
GRIR 16 e =Mta o Jfe ore e | 7 famiz meda Bt e Fife,

(O08 THENE I 5o F 1 sl 231 ?
(D) WIS B) =fRE
(6 (eI™ (D) TFERE

feml «3fb Hetbtad (movie) BRFG T (booked) FEE I MRS ¥g Hefa
(trailer){%ﬂﬁ@?%ﬁﬁ@w 20%‘1’@ | GAEGER eWi*© 48ba (trailer) 45
'l 19 1 5I6@Ts (movie) GTd®e | fert vateals (@ 16%"{(3/11%'%@% (movie)
e i@ | I @1 qRkEiE B 5590 (booked) FCAMRS ©@ AARA (@l e
BEIA G TR ?

(A) HFR (B) ==&

(C) == (D) R

T = o wrayAi fefoha s S SayA trailer @t fafy fefpa smmmafs = 20 Rrer
fegTomaHrEmH | ool o 9EYTE! trailer fegTom @@ M 45 M 3@ A=A | W
grEagE! SR T aEi 'm 16 @i fogram s | Jfe 99 e @rfa o aayEat
TSN, & HEYH GEATEH 6 THET g 2

(A) IEHIR (B) wfHeER

(C) Te=m (D) HTATR

T 3 weh fohem b1 feahe o fopa formrent 3o feshe 55 501 & 20 e vt R foparm mmam o |
SR Tl B o 45 Teq =g 98 fohew gt 2 | Thew 3 67 9 16 e uaet et g3 off
T B 3 fihew <@t oft | Twarg < fop e fbem fefier 53 off 3R 3w omm 1 fesve g
feRam o 7

(A) IEHER (B) wifam
(C) Temm (D) HTEER
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92. Priya booked a ticket for a movie whose trailer was released 20 days before
she booked the ticket. She watched the movie 45 days after the trailer was
released. The movie was released 16 day before the day on which Priya
watched the movie. On which day of the week was the movie released if she
booked the ticket on Sunday ?

(A) Friday (B) Saturday
(C) Sunday (D) Tuesday
Q. 93 I 7_ Q. 95 T : SpeifEe 7yt / 3 / *=lb el 1
93. 5:27::9:
A) 83 (B) 81
(C) 36 . D) 18
Q. 93 to Q. 95 SIS 7Y / I / *=[ (& (T FA!
93. 5:27:9:
A) 83 (B) 81
(C) 36 D) 18
Q. 93 v Q. 95 fam .
TR JHTH/gRE/AREE! TR
93. 5:27:9:
A) 83 (B) 81
(C) 36 D) 18
9 G 93 | 95 doh W G/ /IS [1d HIFAT |
93. 5:27::9:
A) 83 (B) 81
(C) 36 D) 18

From Q. 93 to Q. 95 : Find the missing numbers/letters/words.
93. 5:27::9:

A) 83 (B) 81
(C) 36 (D) 18
94. AQRD : BRSE :: LMTJ :
(A) MNRK (B) MNSK
(C) MNUK (D) MMUK
95. Bus : Driver :: Horse:
(A) Saddle (B) Rein
(C) Horseman (D) Stirrup
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Q. 96 I 7 Q. 98 T : Twferii® BIfG! frer fofoibl @ Ko =N AT T S Ao!
GIiTS TGS | (15S WG IR KPS el 1 |

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q. 96 — Q. 98 : I TS KFER T Rowb AT A KO T T IR | F G2
T T@ofS 73 ?

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q. 96 i w Q. 98 fom
TERTE BT s TETH (options) HHAT &1 9E S0 fa=g (Pattern) S T& BRUT
TR SERAT HIAY Srefl TS 1R | o SrelstTd MRIssI e TerEh iR |

96. (A) 2837 (B) 17651
(C) 3925 D) 9762

e : I G 96 A 98 : et 9w fashedt # @ 9 s foow et & wom & o7k safow ww
THE 10 & | g ¥ TEEfd ey #1 ¢8|

96. (A) 2837 (B) 17651
(C) 3925 D) 9762

From Q. 96 — Q. 98 : Three out of the following four options are alike in a

particular pattern and hence form a group. Find the one which does NOT
belong to the group.

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762
225 100
97. (A 3375 (B) 1331
169 289
© 2744 ) 5832
98. (A) fofI (Emission) (B) @w3q (Pollution)
(C) ¥4 (Contamination) (D) ToEeRe (Adulteration)
98. (A) fwsfam (B) &
C) w34 (D) ToSERRe
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98. (A) IGRGTE (B) T

(C) el @ (D) WIS T AR
98. (A) I (B) Sy

(C) U (D) fuerae
98. (A) Emission (B) Pollution

(C) Contamination (D) Adulteration
99. eme Hae fqeed o 7R e 41 ;

A) 12 (B) 18

©) 22 D) 26
99. <G el bd (It Tagres 7Rl (3iTer @ T -

A) 12 (B) 18

(C) 22 D) 26
99. ¥ EMN3TE AHEY @A™ g ?

A) 12 (B) 18

© 22 D) 26
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99. < S ITTRfd | By <hl HE Frd hiIfT -

A 12 (B) 18
(C) 22 D) 26

99. Find the number of triangles in the given figure :

A 12 (B) 18
(C) 22 (D) 26

100. 7= Tgdl, Rlerel, @it
G2 HAPTIRT T T5E SRFTOIR &ffsfiig T *[1 Haes! bere w4 :

A) (B)

©) (D)
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100. 1S firall, Qerl, @R — @3 ETSBTENF TR T SeFeeid afsffig Fa foal

oo 54
A) (B)
©) (D)

100. U@ (Classes) BRI ATETT AR AHIERE 53 HEES! AT SRART THra! iR |

(A) (B)

©) D)

100. 39 3@ ! Tg=M L Sl {3 T T b 1= < G| i GaaH €9 § G113 -

(A) (B)
©) D)

100. Identify the diagram that best represents the relationship among the classes :
New Delhi, Sr1 Lanka, Asia

(A) (B)

©) D)
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